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a’—b%=(a+b) (a—b)

: NONT DX
x2—16=x2—-42=(x+4)-(x—4)
INNDY PN — D9 WA DN NNOD YNNIV NN DINN YNNIYI P9 NNDNI WHNY) ;29 Y

NNDN VDY TIN DPINDN NYNNNI AN — 2NN

1. x?2-100=
2. x?2—64=
3. x2-6=
4. x2—-1=
5. x2—-0.25=
6. x*—b%=
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(a + b)? = a? + 2ab + b?

\

(a — b)? = a* — 2ab + b?

(x + 8)?
(x —5)?
(x — 1)?

© N o v kR W

x?+8x+16 =
x? —20x + 100 =
x? +14x + 49 =
x?—2x+1=

(x+4)? =

272 NMOVINY DMDN MY P2 NON/NDN
INDINT

(x+3)2=x2+2-3x+3%2=x2+6x+9

(x—5)2=x2+2-(=5 x+(-5?%=x%—-10x+ 25
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x2+2x—-15=0
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5, =3 : ©XN2N DM9DNN NN KNI NIVNND NYP SINN

O»ppPr—5-(—-3)=-15 .1
OOPIPR-5—-3=2 2

£ T2 NNV DMIADNN MY NN DPRI 29 1Y
(x+5)-(x—3)=0
0IMN2 PIT) MIPTY ONN

: DPINON NN NN
2—3x+5x—-15=0

x2+2x—15=10
MPTY MOIINMN NN NODP
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"0 -0 =0" Yvmanann>-5mIn

1. x>+8x+12=0

2. x*4+13x+30=0

3. x2-5x+6=0

4. x24+9x+14=0

5. 2x2+6x+4=0

6. x*+11x+12=1—x
7. x2=7x+10=2(x+1)
8. x*’+16x+34=x-2
9. 2(x*+1)+13x+3=3(x—-1)
10. —x?2+11x+26=0

11. 5x2+15x—20=0
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x2 —100 = x% — 10% = (x + 10)(x — 10)
x2—64=x>-82=(x+8)(x—8)
x?—6=1x%-(V6)? = (x +V6)(x —V6)
x2-1=x*-1=(x+1(x—-1)

x? —0.25 =x2—(§)2 = (x+)(x—3)
x2 —b% =x%— b2 = (x + b)(x — b)

:P12593 YN T NN

x? +8x+16 = (x + 4)?

x% —20x + 100 = (x — 10)?
x2+14x +49 = (x + 7)*
x2—=2x+1=(x—1)>2

(x +8)? = x% + 16x + 64
(x —5)% =x%2—-10x + 25
(x—1)2?=x?-2x+1
(x+4)?=x*+8x+16

: D10 MININS

x2+8x+12=0->(x+2)(x+6)=0
x2+13x+30=0-> (x+3)(x+10)=0
x2-5x+6=0->(x—-2)x-3)=0
x2+9x+14=0->(x+2)(x+7)=0
2x2+6x+4=0->x2+3x+2=0->(x+2)(x+1)=0
x24+11lx+12=1-x->x2+12x+11=0->(x+1)(x+11) =0
x2—7x4+10=2(x+1)->x>-9x+8=0->(x—-1)(x—8)=0
x?+16x+34=x—-2->x*+15x+36=0->(x+12)(x+3) =0
2(x*+1)+13x+3=3(x—-1) > 2x*+13x+5-3x+3=0->2x2+10x+8=0
->x24+5x+4=0->((x+4)(x+1)=0
x>+ 11x+26=0-x2-11x—-26=0-> (x—13)(x+2)=0
5x24+15x—20=0->x2+3x—-4=0->(x+4)(x—-1)=0
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